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1. An example of structural unemployment is aln):

A)

autcw orker who is temporarily laid off from an automobile
company because of a3 decline in sales.

reclogist who is permanently laid off from an il company because
of an increase in wages won by labor unions.

worker at a fast—-food restaurant who quits work and attends
college

real estate agent who leaves a job in Texas and searches fora
similar, hicher-paving job in California.

Z. Which of the following accurately describes what is happening along a
twpical aggregate production function?

A)

BJ

)

D]

At some point, increasing the amount of physical capital per
worker will reduce productivity.

Inereases in physical capital per worker will alwayvs bring about an
increase in productivity that is worth the cost of the additional
phersical capital.

Due 1o diminishing returns, increasing the amount of phyesical
capital per worker will eventually bring smaller and smaller
increases in productivity,

Adding worlkers results in real GDF per worker rizing at an
increasing rate throughout the function.

3. A countrv's growth rate depends very highly on how it has invested in
its phirsical capital. Generally, countries that have:

&)

uszed foreign direct investment as a source of their capital have
exhibited the highest growth rate.

uzed domestic saving as a source of thelr investment on physical
capital have exhibited the hichest growth rate.

uzed foreign portfolio investment as a source of their capital have
ex hibited the highest growth rate.

used contracted globalization as a source of their capital hawve
exhibited the highest growth rate.

4, Timinishing returns to physical capital means that as more and more
phyzsical capital i combined with a fixed amount of human capital and
a fixed technology, eventually:

A)

Bl
(5]
D)

agoregate output or real GDP declines.

agorecate output or real GDF srows.

additions to aggregate cutput or real GDF decline.
additions to aggregate output or real GDF increase,
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k. Open-market operations occur when the Federal Eegerve!
A) buys U3, Treasury bille from the federal government.
Bl buvs or sells foreign currency.
C)  buvs or sells existing 1.8, Treasury bills.
D) sells U.5, Treasury bills to the federal government.

Tze the following to answer question 6.

Table: Components of the Money System

Components of the Money System (billions of dollars)

Currency K100
Checkable deposits 300
Travelers checks 50
Small-denomination time deposits 700

Savings deposits 13
Money market mutual funds [individuals) 500
Large-denomination time deposits 200

6. (Table: Components of the Money Supply) Eefer to the information in
the table. The money supply measured by M2 is:
A) $450 billion.
Bl 31425 billion:
C) $1,725 billion.
) $2,075 billion.

Tze the following to answer question 7.

Scenario: Exchange Rates
The value of a euro goes from US$1.25 1o US$1.50,

7. (Scenario: Exchange Rates) Fefer to the information provided in the
scenario, In Germany, exports:
A) will increase, and imports will decrease.
Bl and imports will increase.
C) will decrease, and imports will increase,
D) and imports will decrease.

Tze the following to answer question 8.

Scenario: Holding Cash

Suppose that the public holds 5055 of the money supply in currency and the
reserve requirement is 20 percent. Banks hold no excess reserves. A
customer deposits $6,000 in her checkable deposit.
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2. [Secenario; Holding Cash) As a result of the deposit, the bank's loans
will increase by

A) $6,000
Bl $1.200
C) $3.000
D) $4.800

9 An increase in .35, interest rates causes a decrease in agoregate

demand ki

Al Increasing investment, appreciating the dollar, and increasing
Imports.

Bl decreasing investment, appreciating the dollar, and increasing
Imports,

2] increasing investment, depreciating the dollar, and increasing
exports,

I decreasing investment, depreciating the dollar, and decreasing
ex ports.

Uze the following to answer question 10:

Figure: Changes in the Money Supply

Interest
rate, r 5 5

6 l....

o

Qy @ Quantity of
money

10, (Figure: Changes in the Money Supply) Refer to the information in the
ficure Changes in the Money Supply. If the supply of money shifts

from 51 to 52, the Federal Eeserve must have _______ bonds in the
open market.

A) sold

B} bought

) izsued new

D) borrowed
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11. A natural disaster that destrovs part of a country's infrastructure iz a

Hrpesofweeere and therefore chifte the totheisenmpmmmay
Al negative demand shock! ageregate demand curve, right

negative supply shock! agegregate demand curve; left

Bl
] negative supply shock: short-run agegregate supply curve; left
L)

negative demand shock: long—run ageregate supply curve; left

Uze the following to answer question 1.

Figure: An Increase in Aggregate Dernand

Price level

12

13,

14,

¥ Yo ¥
Real GDP

(Figure. An Increase in Aggregate Demand) Assume that the economy
iz initially in long- run equilibrium at ¥ and B, Now suppose that
there iz an increase in the level of government purchases at each
price level This will.

Al shift the aggregate demand curve from A to A7,

Bl shift the ageregate demand curve from A2 to ADs,

1 lead to increased output and a decrease in the price level.

D) lead to decreased output and price level,

Which of the following represent the three consequences of the
decline in demand during the Great Depression?

Al falling prices, declining output, and a surge in unemplovment
Bl falling prices, increasing output, and a surge in unemployment
] rising prices, increasing output, and a surge in unemployment
[ rising prices, declining output, and a surge in unemplovment

Fxpansionary fizcal policy includes:

A) increasing taxes.

Bl increasing the money supply.

) decreasing government expenditures,
[} increasing government expenditures.
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15,

16.

13

L8:

If the marginal propensity to consume is 0.75 and the federal
covernment increazes spending by $100 billion, the income
expenditure model would predict that real GDF will increase by

Al $100 billion,
Bl $750 billion,
Cl  $400 billion.
D) $300 billion.

If the marginal propensity to consume is 0.9, then the tax multiplier
will be!

A)  impossible to determine.

B) greater than 10.

C) lessthan 10.

I zero, because there is no multiplier effect from taxes.

Assume that marginal propensity to consume iz 0.8 and potential
output iz $800 billion. The tax multiplier is:

A) exactly 0.8,

B} impossible to determine.

C] greaterthan b

I lessthan 5.

Assume that marginal propensity to consume 1= 0.8 and potential
output ig $800 billion. If the actual real GDF iz $700 billion, which of
the following policies would bring the econormy to potential output?
Al Decrease taxes by $100 billion.

Bl Increase taxes by $100 billion.

) Decreaze taxes by $25 hillion.

) Decrease government transfers by $25 hillion.

TJze the following to answer questions 19-20:

Figure: Equilibrium in the Money Market

Interest
rate, r

2
i

o

Supply of
money

Demand for
money

' |
Q @ @, Quantityof
money
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1.9

2.

al.

aa.

a3,

&4,

(Figure: Equilibrium in the Money Market) Eefer to the information in
the figure BEauilibrium in the Money MMarket. If the rate of interest is
below the equilibrium rate, there will be an _______ money and the
interest rate will _______,

A) excess demand for: rise

Bl excess supply of fall

) excess demand for; fall

D excess supply of; rise

(Figure: Equilibrium in the Money Market) Eefer to the information in
the figure Equilibrium in the Money Market, Equilibrium in this money

market will ocour at interest rate and quantity of money
A o Or
Bl m &k
& | pilh
D) m Lk

Contractionary fiscal policy includes:

Al decreasing taxes.

Bl decreasing the money supply.

C)  decreasing government expenditures.
[ increasing government expenditures.

Aeoutintaxes therefore shifting the ageregate demand curve

tothe _______.

Al decreases government transfers and consumnption right

Bl increaszes disposable income and consumption: right

C) decreases the marginal propensity to save, Increasing
consumption, left

[ increases corporate profits and investment: left

If Congress places a $5 tax on each ATM transaction, there will likelsy
be:

Al a movement up a stationary money demand curve.

B) a movement down a stationary money demand curve.,

C)  a shift to the left of the money demand curve.

[ a shift to the right of the monev demand curve.

The quantity demanded of money is negatively related to _____ | and
the demand for money is positively related to _______,

A)  the interest rate; real GDP

Bl the interest rate; unemployment

C] real GDF, the interest rate

I real GDP,; the money supply
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&0

&b,

&b,

a8,

24,

The long-run Fhillips curve is

A) the same as the short—-run Phillips curve.

Bl negatively sloped, showing an inverse relationship between
unemploviment and inflation.

C)  wertical at the nonaccelerating—inflation rate of unemployment
(NATR),

D) unrelated to the NAIET.

The short—-run FPhillips curve:

Al is upward sloping because inflation and unemployment rates have
a poszitive relationship in the short run.

B) iz wvertical because there is no trade—off between inflation and
unemplovment rates in the short run.

Cl  is downward sloping because there is a trade- off between
inflation and unemplovment rates in the short run.

D) iz horizontal because there iz no trade—off between inflation and
unemployvment rates in the short run.

The long-run Phillips curve shows that.

Al there iz a trade—off between unemplovment and inflation.

Bl an expansionary policy could lead to lower unemplovment
temporarily.

C)]  the natural rate of unemployvment occurs when the actual inflation
rate equals the expected inflation rate.

I lower unemplovment can be sustained indefinitely with continuous
expansionary policies,

A decrease in the supply of money will leadto aln) _______ in
equilibrium real GOF and aln) _______ in equilibrium price level.
A) Increase; increase

B) increase; decrease

Tl decrease, increase

D) decrease; decrease

Fast-growing economies often have a greater demand for loanable
funds than do slower-growing econcrmies because!

Al fast-growing economies also have high private savings rates.

Bl fast-growing econcmies have more investment opportunities,

C)  they tend to have high public savings rates.

[ their balance of pavments tends to be in surplus most of the time.
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20, If the Fed increases the quantity of money in circulation:

il

38,

interest rates decrease, investment increases, and the aggregate
demand curve shifts to the right.

interest rates increase, investment increases, and the agoregate
demand curve shifts to the right.

interest rates decrease, investment increases, and the aggregate
demand curve shifts to the left,

interest rates increase, investment decreases, and the aggregate
demand curve shifts to the left.

If assets owners in Japan and the United States consider Japanese and
7.5, aggets as good substitutes for each other and if the U5, interest
rate iz 5% and the Japanese interest rate 1z 2%, then all of the
following will occour EXCERT that!

Al
B)
-

D)

financial inflows will reduce the U5, interest rate,

financial outflow s will increase the Japanese interest rate,

the interest rate gap between the United States and Japan will ke
eliminated.

loanable funds will be exported from the United States to Japan.

The interest rate effect of an aggregate price level change causes:

Al

B)
)
D)

the long-run aggregate supply curve to be vertical.

the aggregate demand curve to ke negatively sloped.

the short-run aggregate supply curve to be positively sloped.
the ageregate demand curve to be positively sloped.

Uze the following to answer questions 33-34.

lable: Population Data for Kstill Connty

Tremonrraphic Lironp “iumher of Residents
bonplosead 5,000
Tmemploved and looking for work 1,000

Ml working due Lo dizabilily 200

Nt woakoiny due o retrenaent 00
Temploved and net looking for ssork

due Lo discouragennsil over job prospecis 200

Lndor the age o 14 2,000

Total Popnlation 9400

33, (Table: Population Drata for Estill County) Use the accompanying table,
whirh surmmmarizes the labor market status of the residents of Estill

County. What is the unemployment rate in the county?
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34, (Table: Population Data for Estill County) Use the accompanying table,
which summarizes the labor market status of the residents of Estill

County. What iz the labor foree participation rate in the county?

Uze the following to answer question 35

‘Lalble: C1'1

2008 2z
Product Chnantiry Price LInantiry FPrice
Bread 2,000 51001 1,200 3150
Laptaps L0 2000300 130 1,500 00
Mowvies 50 5.0 4 oo

35, [Table: CPI) Suppose only three goods are produced in this economy:
bread, laptops, and movies, Calculate the CFI of 2012, using 2008 as

the base vear. [ show all vour work, without equation, no point)
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36. Draw the AD-SRAS-LRAS diagram for the U.S. economy starting in a long-run equilibrium.
Oil prices rise (Oil shock!). Use your diagram to determine the SR and LR effects on U.S. GDP,
the price level, and unemployment. (Description 5 Point + diagram 5 point)

37. For the events below, determine the short-run effects on output & determine how the Fed
should adjust the money supply and interest rates to stabilize output. Congress tries to balance
the budget by cutting government spending. (Description 5 Point + diagram 5 point)
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